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hinitialoffsets hinitialoffsets
Entries  1683910
Mean x   15.77
Mean y  -118.5
RMS x   11.42
RMS y   148.9

hinitialoffsets
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hdt_A00 hdt_A00
Entries  135808

Mean x   19.21

Mean y  0.008605

RMS x   6.454

RMS y   1.077
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hdt_A00
Entries  135808

Mean x   19.21

Mean y  0.008605

RMS x   6.454

RMS y   1.077

hdt_A00
Entries  135808

Mean x   19.21

Mean y  0.008605

RMS x   6.454

RMS y   1.077

hdt_A00

iter=0 is=0 key=0

10 20 30 40 50 60-8

-6

-4

-2

0

2

4

6

8

hdt_A01 hdt_A01
Entries  147259

Mean x    19.4
Mean y  0.07174
RMS x   6.687
RMS y   1.086

hdt_A01
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hdt_A01
Entries  147259

Mean x    19.4
Mean y  0.07174
RMS x   6.687
RMS y   1.086

hdt_A01
Entries  147259

Mean x    19.4
Mean y  0.07174
RMS x   6.687
RMS y   1.086

hdt_A01

iter=0 is=1 key=0
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hdt_A10 hdt_A10
Entries  133345

Mean x   19.46
Mean y   0.324
RMS x   7.129
RMS y   1.073

hdt_A10
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hdt_A10
Entries  133345

Mean x   19.46
Mean y   0.324
RMS x   7.129
RMS y   1.073

hdt_A10
Entries  133345

Mean x   19.46
Mean y   0.324
RMS x   7.129
RMS y   1.073

hdt_A10

iter=1 is=0 key=1
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hdt_A11 hdt_A11
Entries  139164

Mean x   19.41
Mean y  0.06654
RMS x   6.324
RMS y   1.058

hdt_A11
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hdt_A11
Entries  139164

Mean x   19.41
Mean y  0.06654
RMS x   6.324
RMS y   1.058

hdt_A11
Entries  139164

Mean x   19.41
Mean y  0.06654
RMS x   6.324
RMS y   1.058

hdt_A11

iter=1 is=1 key=1
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hdt_A20 hdt_A20
Entries  129132

Mean x   18.21
Mean y  -0.09817
RMS x   5.677
RMS y   1.108
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hdt_A20
Entries  129132

Mean x   18.21
Mean y  -0.09817
RMS x   5.677
RMS y   1.108

hdt_A20
Entries  129132

Mean x   18.21
Mean y  -0.09817
RMS x   5.677
RMS y   1.108

hdt_A20

iter=2 is=0 key=2
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hdt_A21 hdt_A21
Entries  140035
Mean x   19.04
Mean y  -0.3586
RMS x   6.341
RMS y   1.059

hdt_A21
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hdt_A21
Entries  140035
Mean x   19.04
Mean y  -0.3586
RMS x   6.341
RMS y   1.059

hdt_A21
Entries  140035
Mean x   19.04
Mean y  -0.3586
RMS x   6.341
RMS y   1.059

hdt_A21

iter=2 is=1 key=2
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hdt_A30 hdt_A30
Entries  132459
Mean x   19.48
Mean y  0.2756
RMS x   6.878
RMS y   1.115
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hdt_A30
Entries  132459
Mean x   19.48
Mean y  0.2756
RMS x   6.878
RMS y   1.115

hdt_A30
Entries  132459
Mean x   19.48
Mean y  0.2756
RMS x   6.878
RMS y   1.115

hdt_A30

iter=3 is=0 key=3
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hdt_A31 hdt_A31
Entries  139225
Mean x   19.37
Mean y  0.1019
RMS x   6.401
RMS y   1.033
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hdt_A31
Entries  139225
Mean x   19.37
Mean y  0.1019
RMS x   6.401
RMS y   1.033

hdt_A31
Entries  139225
Mean x   19.37
Mean y  0.1019
RMS x   6.401
RMS y   1.033

hdt_A31

iter=3 is=1 key=3

10 20 30 40 50 60-8

-6

-4

-2

0

2

4

6

8

hdt_A40 hdt_A40
Entries  133829
Mean x   18.73
Mean y  -0.08683
RMS x   6.227
RMS y   1.075
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hdt_A40
Entries  133829
Mean x   18.73
Mean y  -0.08683
RMS x   6.227
RMS y   1.075

hdt_A40
Entries  133829
Mean x   18.73
Mean y  -0.08683
RMS x   6.227
RMS y   1.075

hdt_A40

iter=4 is=0 key=4
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hdt_A41 hdt_A41
Entries  135448
Mean x   19.48
Mean y  0.3039
RMS x   6.408
RMS y   1.041
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hdt_A41
Entries  135448
Mean x   19.48
Mean y  0.3039
RMS x   6.408
RMS y   1.041

hdt_A41
Entries  135448
Mean x   19.48
Mean y  0.3039
RMS x   6.408
RMS y   1.041

hdt_A41

iter=4 is=1 key=4
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hdt_A50 hdt_A50
Entries  144179
Mean x   19.37
Mean y  0.4256
RMS x   6.418

RMS y  0.9848

hdt_A50
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hdt_A50
Entries  144179
Mean x   19.37
Mean y  0.4256
RMS x   6.418

RMS y  0.9848

hdt_A50
Entries  144179
Mean x   19.37
Mean y  0.4256
RMS x   6.418

RMS y  0.9848

hdt_A50

iter=5 is=0 key=5
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hdt_A51 hdt_A51
Entries  132809
Mean x   19.54
Mean y   0.393
RMS x   6.521

RMS y  0.9998
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hdt_A51
Entries  132809
Mean x   19.54
Mean y   0.393
RMS x   6.521

RMS y  0.9998

hdt_A51
Entries  132809
Mean x   19.54
Mean y   0.393
RMS x   6.521

RMS y  0.9998

hdt_A51

iter=5 is=1 key=5
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hdt_A60 hdt_A60
Entries  145431
Mean x   19.31
Mean y  -0.1921
RMS x   6.954

RMS y  0.9993

hdt_A60
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hdt_A60
Entries  145431
Mean x   19.31
Mean y  -0.1921
RMS x   6.954

RMS y  0.9993

hdt_A60
Entries  145431
Mean x   19.31
Mean y  -0.1921
RMS x   6.954

RMS y  0.9993

hdt_A60

iter=6 is=0 key=6
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hdt_A61 hdt_A61
Entries  130104
Mean x   19.34
Mean y  -0.3101
RMS x    6.83

RMS y   1.039

hdt_A61
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hdt_A61
Entries  130104
Mean x   19.34
Mean y  -0.3101
RMS x    6.83

RMS y   1.039

hdt_A61
Entries  130104
Mean x   19.34
Mean y  -0.3101
RMS x    6.83

RMS y   1.039

hdt_A61

iter=6 is=1 key=6
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hdt_A70 hdt_A70
Entries  141113
Mean x   20.45
Mean y  0.04076
RMS x   7.501

RMS y   1.088
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hdt_A70
Entries  141113
Mean x   20.45
Mean y  0.04076
RMS x   7.501

RMS y   1.088

hdt_A70
Entries  141113
Mean x   20.45
Mean y  0.04076
RMS x   7.501

RMS y   1.088

hdt_A70

iter=7 is=0 key=7
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hdt_A71 hdt_A71
Entries  136481
Mean x   19.51
Mean y  0.1463
RMS x   6.927
RMS y   1.016

hdt_A71
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hdt_A71
Entries  136481
Mean x   19.51
Mean y  0.1463
RMS x   6.927
RMS y   1.016

hdt_A71
Entries  136481
Mean x   19.51
Mean y  0.1463
RMS x   6.927
RMS y   1.016

hdt_A71

iter=7 is=1 key=7
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hdt_A80 hdt_A80
Entries  126542
Mean x   19.21
Mean y  -0.1573
RMS x   6.663
RMS y   1.085

hdt_A80
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hdt_A80
Entries  126542
Mean x   19.21
Mean y  -0.1573
RMS x   6.663
RMS y   1.085

hdt_A80
Entries  126542
Mean x   19.21
Mean y  -0.1573
RMS x   6.663
RMS y   1.085

hdt_A80

iter=8 is=0 key=8
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hdt_A81 hdt_A81
Entries  136154
Mean x   19.31
Mean y  0.3904
RMS x   6.757
RMS y   1.055

hdt_A81
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hdt_A81
Entries  136154
Mean x   19.31
Mean y  0.3904
RMS x   6.757
RMS y   1.055

hdt_A81
Entries  136154
Mean x   19.31
Mean y  0.3904
RMS x   6.757
RMS y   1.055

hdt_A81

iter=8 is=1 key=8
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hdt_A90 hdt_A90
Entries  129212
Mean x   19.05
Mean y  0.4216
RMS x   6.279
RMS y   1.029

hdt_A90
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hdt_A90
Entries  129212
Mean x   19.05
Mean y  0.4216
RMS x   6.279
RMS y   1.029

hdt_A90
Entries  129212
Mean x   19.05
Mean y  0.4216
RMS x   6.279
RMS y   1.029

hdt_A90

iter=9 is=0 key=9
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hdt_A91 hdt_A91
Entries  145624
Mean x   19.59
Mean y  0.2208
RMS x   7.309
RMS y  0.9666

hdt_A91
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hdt_A91
Entries  145624
Mean x   19.59
Mean y  0.2208
RMS x   7.309
RMS y  0.9666

hdt_A91
Entries  145624
Mean x   19.59
Mean y  0.2208
RMS x   7.309
RMS y  0.9666

hdt_A91

iter=9 is=1 key=9
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hdt_A100 hdt_A100
Entries  116832

Mean x   19.67

Mean y  -0.006244

RMS x   7.309

RMS y  0.9473

hdt_A100

10 20 30 40 50 60-8

-6

-4

-2

0

2

4

6

8

hdt_A100
Entries  116832

Mean x   19.67

Mean y  -0.006244

RMS x   7.309

RMS y  0.9473

hdt_A100
Entries  116832

Mean x   19.67

Mean y  -0.006244

RMS x   7.309

RMS y  0.9473

hdt_A100

iter=10 is=0 key=10
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hdt_A101 hdt_A101
Entries  116064

Mean x   19.71
Mean y  0.2859
RMS x   6.804
RMS y  0.9609

hdt_A101
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hdt_A101
Entries  116064

Mean x   19.71
Mean y  0.2859
RMS x   6.804
RMS y  0.9609

hdt_A101
Entries  116064

Mean x   19.71
Mean y  0.2859
RMS x   6.804
RMS y  0.9609

hdt_A101

iter=10 is=1 key=10
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hdt_A110 hdt_A110
Entries  117532

Mean x   18.94
Mean y  -0.05426
RMS x   5.857
RMS y  0.9512

hdt_A110
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hdt_A110
Entries  117532

Mean x   18.94
Mean y  -0.05426
RMS x   5.857
RMS y  0.9512

hdt_A110
Entries  117532

Mean x   18.94
Mean y  -0.05426
RMS x   5.857
RMS y  0.9512

hdt_A110

iter=11 is=0 key=11
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hdt_A111 hdt_A111
Entries  114981

Mean x   19.16
Mean y  -0.4434
RMS x   6.008
RMS y  0.9583
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hdt_A111
Entries  114981

Mean x   19.16
Mean y  -0.4434
RMS x   6.008
RMS y  0.9583

hdt_A111
Entries  114981

Mean x   19.16
Mean y  -0.4434
RMS x   6.008
RMS y  0.9583

hdt_A111

iter=11 is=1 key=11
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hdt_A120 hdt_A120
Entries  125637

Mean x   18.69
Mean y   0.115
RMS x   6.344
RMS y  0.8885

hdt_A120

10 20 30 40 50 60-8

-6

-4

-2

0

2

4

6

8

hdt_A120
Entries  125637

Mean x   18.69
Mean y   0.115
RMS x   6.344
RMS y  0.8885

hdt_A120
Entries  125637

Mean x   18.69
Mean y   0.115
RMS x   6.344
RMS y  0.8885

hdt_A120

iter=12 is=0 key=12
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hdt_A121 hdt_A121
Entries  113422
Mean x    19.1
Mean y  -0.3446
RMS x   6.108
RMS y  0.9635

hdt_A121
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hdt_A121
Entries  113422
Mean x    19.1
Mean y  -0.3446
RMS x   6.108
RMS y  0.9635

hdt_A121
Entries  113422
Mean x    19.1
Mean y  -0.3446
RMS x   6.108
RMS y  0.9635

hdt_A121

iter=12 is=1 key=12
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hdt_A130 hdt_A130
Entries  129269
Mean x   19.29
Mean y  0.2183
RMS x   5.864
RMS y  0.8835

hdt_A130
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hdt_A130
Entries  129269
Mean x   19.29
Mean y  0.2183
RMS x   5.864
RMS y  0.8835

hdt_A130
Entries  129269
Mean x   19.29
Mean y  0.2183
RMS x   5.864
RMS y  0.8835

hdt_A130

iter=13 is=0 key=13
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hdt_A131 hdt_A131
Entries  115365
Mean x   19.46
Mean y  0.5186
RMS x   5.791
RMS y  0.9036

hdt_A131
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hdt_A131
Entries  115365
Mean x   19.46
Mean y  0.5186
RMS x   5.791
RMS y  0.9036

hdt_A131
Entries  115365
Mean x   19.46
Mean y  0.5186
RMS x   5.791
RMS y  0.9036

hdt_A131

iter=13 is=1 key=13

10 20 30 40 50 60-8

-6

-4

-2

0

2

4

6

8

hdt_A140 hdt_A140
Entries  124841
Mean x   19.41
Mean y  -0.09713
RMS x   5.684
RMS y  0.9614

hdt_A140
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hdt_A140
Entries  124841
Mean x   19.41
Mean y  -0.09713
RMS x   5.684
RMS y  0.9614

hdt_A140
Entries  124841
Mean x   19.41
Mean y  -0.09713
RMS x   5.684
RMS y  0.9614

hdt_A140

iter=14 is=0 key=14
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hdt_A141 hdt_A141
Entries  105591
Mean x   20.19
Mean y  0.2939
RMS x   7.103
RMS y   1.033

hdt_A141
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hdt_A141
Entries  105591
Mean x   20.19
Mean y  0.2939
RMS x   7.103
RMS y   1.033

hdt_A141
Entries  105591
Mean x   20.19
Mean y  0.2939
RMS x   7.103
RMS y   1.033

hdt_A141

iter=14 is=1 key=14
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hdt_A150 hdt_A150
Entries  127192
Mean x   19.45
Mean y  0.02527
RMS x   6.491

RMS y  0.8797

hdt_A150
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hdt_A150
Entries  127192
Mean x   19.45
Mean y  0.02527
RMS x   6.491

RMS y  0.8797

hdt_A150
Entries  127192
Mean x   19.45
Mean y  0.02527
RMS x   6.491

RMS y  0.8797

hdt_A150

iter=15 is=0 key=15
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hdt_A151 hdt_A151
Entries  113340
Mean x   19.39
Mean y  0.3637
RMS x   6.395

RMS y  0.9007

hdt_A151
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hdt_A151
Entries  113340
Mean x   19.39
Mean y  0.3637
RMS x   6.395

RMS y  0.9007

hdt_A151
Entries  113340
Mean x   19.39
Mean y  0.3637
RMS x   6.395

RMS y  0.9007

hdt_A151

iter=15 is=1 key=15
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hdt_A160 hdt_A160
Entries  124487
Mean x   19.49
Mean y  0.4075
RMS x   6.423

RMS y  0.8491

hdt_A160
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hdt_A160
Entries  124487
Mean x   19.49
Mean y  0.4075
RMS x   6.423

RMS y  0.8491

hdt_A160
Entries  124487
Mean x   19.49
Mean y  0.4075
RMS x   6.423

RMS y  0.8491

hdt_A160

iter=16 is=0 key=16
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hdt_A161 hdt_A161
Entries  111980
Mean x   19.28
Mean y  0.2271
RMS x   6.041
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